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Directions:

1) You must show all your work to obtain full credit.

2) You are allowed to use electronic calculators and other reasonable writing
accessories that help write the exam.

3) Do not keep your mobile with you during the exam, turn off your mobile and leave
it aside.
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A firm manufactures a commodity that costs $20 per unit to produce. In addition, the firm
has fixed costs of $2,000. Each unit s sold for $70.
a. How many units must be sold if the firm is to meet a profit target of $14,5007
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¢. How many units must be sold if the firm wants to earn a profit of more than $50,000?
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2. A manufacturer produces 50 TV sets at a cost of $17,500 and 75 TV sets at a cost of

$21,250.
a. To descnbe this situation, write an equation of a line in slope-intercept form(C =mq + b)
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b. How much average cost will increase per TV set?

c. Predict the cost to produce/LZ'O* TV sets.
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3. Arevenue function is given by R(¢)=15+114g - 34", where g is the number of units

produced and sold.
a. Find the value of ¢ for which the revenue is maximum.
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b. What is the maximum revenue? 2/ m 4,,7,9
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4. Suppose that the supply and demand equations for a certain product are
1 1
=-—qg—9 and p=——¢q+3 Respectively.
P 14 q P 70 g+o P Y

Where p represents the price per unit in dollars and ¢ repgesents the number of units per time

period. 9 / ) N /*:)
a. [Find the equilibrium price. 3 ;/ = j{;,D - 1 a m“/; — o
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b. Find the equilibrium price when a tax of $3 per unit is imposed on the manufacturer if the
demand remains the same.

j}@y X @ zo LG, P
A I BT EY  pe L% =TT (D)
! o < .2 =3
@J = = F T
5. ‘“:,‘ l ! “17{ Fy _«?&I L)

it i
— ~ :/f.;j : Ak K r,/ :
' ) e
. 1
7 P
T, o - e ({? Fa N
f'\ - s 2N « L. P et i - /
&’ 7 —_— - "




.

5. Solve the system
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6. A manufacturer produces two products, A and B. For each unit of A
For each unit of B sold the profit is $11. From past experience it has been found that 25
percent more of A can be sold than of B. Next year the manufacturer desires a total
profit of $42,000. How many units of each product must be sold?
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sold the profit is $8.
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in reduced form

8. Write the matrix |1 1 2
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